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a) 6x — (3x2 —(~2x2 4 (4x2—6) = 3) — 5x) —

b) 2pq —3p*)(p +29) — (¢* —2pq)(2p —q) =

A=x2-3,B=1-2x2,C =x>—x + 1 DESE, ROWAESBEL.

a) C—(B+34)=

b) A—(B—(C—A) =
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a) —a?x(=b)® = b) a x (a?)3 x (a®)? =
¢) (ey*(=x?)(=y)® = d) ab’(a®—5b%) =
e) (=3a?b)?® x (=2ab?)? = f) Bx+4y)? =

g) Bx—4(Tx—-1)= h) 5x +y)(x +5y) =

i) (x2=3xy —y?)(2x —3y) i) (a®+ab + b*)(a® —ab + b?)
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k) (a+b+c)a®+b*+c?—bc—ca—ab) =

RDELDERICDNT, BREEBULTCERE—HITDIEARE.

a) (a +b)(@a?>—ab+b? =a3+ b3

¢) (x+y)*—(x—y)? =4xy
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a) 3ab —6ac =
c) x*—x =
e) x?+x—6=

g) 3x2—18x +27 =

i) 25x2—4 =

k) x*+x=

b)

d)

f)

h)

j)

1)

2a%b —ab? =

(a+b)x—(a+b)y=

x2—7x +10=

x2 —1lxy +24y? =

3x2—5x -2 =

(4 TESBENGS)
b) (a—b)(a?+ab +b?) = a3 — b3
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(6] ROBEETL, BERDERDE. 12120, a FEBETS. a) BROEBAEMABLT, f(x) =x3-3x2+ 4 ZRDUNTEIDIcEETDRDAERDL.
a) b) 1) x-1 2) x-—2

x—2)x3—2x2+4x -8 x?—3x+2)x3 —9x + 8

3) x+1 4) x+2

b) x—1, x—=2, x+1, x+2D55 x> -3x2 + 4 DRFTBE>TLDEDZE .

o) x3-3x? +4 ZRAYHBEX.

7= &0 = &= RO =
C) d)
2x2 —1)x3—3x2 + 4 x2+ax —a®) x3 —ax? —3a2x
O] BNBOBERVOBICE EISNZE) = EBE) x (&) + (RD) EOSEFHMOID. Tnk
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& = R0 = & = R0 = ) X2
x—2
f(x)=x3-3x+1&T 2.
a) f(x)7% x - 2 CEIDICEEDRDZRDK. x=2)x3  —3x+1 5
b) 2x —x—|—3=
2x + 1

b) f(2) DEZFTE L. a) DRWRELBE L.
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